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1. Answer the following questions : . 10x1=10

A orewl Halig Ted wie ¢

(@) What do you understand by the base type of an array ?

<> array-q base type ICT QAT

(b) What is méan.t by a floating consfant in C++?
C++ '—a Floating constant FFCS B IR 2

(¢) What is the effec‘; of absence of ‘break’ in ‘switch-case’ statement ?
‘Switch-case’ statement -9 ‘break’-<¥ weifEfen ger s

(d) What is the difference between ‘@’ and “a” in CiH7?

CH++ -9 ‘@’ R “a” 97 N Ny N 2
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Contd.



(¢) What is data type ?
data type J ? , S
() What is visibility mode ?
Visibility. mode e
(g) What type of C++ class members are‘not inherited ?
@ C++ cla.ss member (1 inherit 1 I N ?-
- (W) What do you mean by ol‘)erator?

Operator J0E F @R 2

(1) What does the modulus operator ‘%’ do ?

Modulus operator ‘%’ ¥ IH ?

Q-

operator can be used in place of if-else statement.

operator (3 if-else Rfox +fFTs Tmm w1
2. Explain the 'follo;.ving questions : 2x10=20
Ao eptfer it w0 :
(a) What is the function of logical operator ?
‘Logical operator’-43 3/ J ?

(b) What will be the result of following two expressions if i = 20 initjally ?

i = 20 T=1 Nwd AR 567 W @@ IR
(i) t+i< =20 (ii)) i++ < =20

(c) What are base and derived classes ?

base class 933 derived class 9
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() Differentiate between Infrared and Microwave transmission. -

Infrared @3} Micrbwave transmission -4 WY ALY @RNG |

(¢) Consider the following class declaration and answer the questions given below :

A wedl class B [iaval w0 FfEiRe emefin Te e -
Class .Small | |
{ private :
int some, more ;
void err 1 ()
"~ { Cout << " error " ; }
public :
void xdata (int d)
{ some = d ;
more = d++ ; }
void ydata () |
{ cout << some << " " << more ; }
T
() Write the name that specifies the above class.

Gﬁﬁgclassﬁﬁﬂﬁﬁfﬂmﬁ?{? . ’

(i) Write all the member functions of -the class along 'with_ their access scope.

Access scope-A2 class 59 5% member function G WRT CeTedr |

() Define a two dimensional array A having 3 rows, 4 columns and stores int data
type. How many elements are there in the array so defined ?

<=l e Naer A~ e wie T ARR AT 3, WS A 4 <R @ int data
T T | GeIF define T *[efEa ToAm Foof 7= ¢

S
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(g) What will be the output produced by the following code ?
R5a Code B TerF 77
for i =10;i<=40;i+=10)
{k=1i/5; |
cout <<k << " "
5
(h) What is meant by increment and decrement opefator- in CH-. ?

C++ -9 increment €<% decrement operator IS W (FRIT 2

(i) Differentiate between Linear queue and Circular queue.

Linear. queue €<} Circular queue -<& S ey (748 |

() Discuss two advantages of Internet. -

TR 55 IR AT el

3. (a) | Rewrite the following progxlam* after 1.removing the syntactical errors (if any). 3
Aox cellemmibee Aw g To AE IR N WF S (01
# holide [ iostream.h ]
MEMBER class =
{ int Mno ; float Fees ;
' PUBLIC :.
" void Register ( ) { cin >$Mno_>> Fees ; }
void DiSpl'ay () { cout << Mno << " :" << Fees << endl ;}
bs |

void main
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{ MEMBER M ;
Register ( ) ,
M. Display ( ) ;

-

}
(b) Write briefly about LAN, MAN and WAN.
LAN, MAN ¢k WAN -3 I ATFC (et |
(c) Give postfix form of the following expression :
va RIFOT posthix T 10 -

—a+bxct@xe)/f

(d What is constructor ? Write any four of its special characteristics.

Constructor 9 ? 98 @ (e 5196 Rodg @ el

(e) Write the full form of the following terms —
wx smafkr Regomest @edr —

() HTTP (i) GSM . (iij) CDMA

4. Define a class worker with the following members —

s oreal RS- 9 class v_vorker—u‘-i?f el T —
Private members — ' |
Wname — 25 characters

hrwrk, wgrate — float

totwage — float (product of hrwrk and wgrate)

Calcwg () — fonction that computes the totwage with float return type.

i
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Public members :

in_data ( ) — function that accepts the values for Wname, hrwrk, werate and
) invokes Calcwg ( ) to computtotwage.

Out_data ( ) — function that displays all the data members on the screen.

5. What do you understand by default constructor and parameterized constructor ? What
is their role ? , . 2+]1=3

Default constructor @< Parameterized constructor 0O I @R 2 Gog G

T

6.  Consider the following class declaration and answer the questions given below : 4

A class B Reoat 3 o cremt aielm Se @wal -

class.School

{int A ;
~ Protected : d
intB, C:
public : ;
void INPUT (int) ; ~
~ void OUTPUT ( ) ;

}s
class Dept : protected School
{intX,Y;

protected :

void IN (int, int) ;

public :

void OUT () ; ,
}s
class Teacher : public Dept
{intP; '

void DISPLAY (void) ;

public : -

vo‘id ENTER () ;
}s
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(i) Name the base class and derived class of the class Dept.

Dept class 49 base class 43R derived class -4 «I% (*TCAT |

(i) Name the data member (s) that can be accessed from fuﬁction OUT ().

OUT ( ) function -9 access FC® Al data member (3TILR)-F =T (=TT |

(iii) Name tﬁe private function (s) of class Teacher.

" class Teacher -~ private function (F3[R)- NI ¢STCAT | |

(iv) Ts the member function OUT ( ) accessible by the objects of Dept ?

Dept -4 object @it OUT () member functidn 61 access TS AT F ?

7. Write the output of the following program : ' , 4
Aoa cetamiba Fetiwet @0l

class counter
{ private :
int count :
public :
counter ( )
{count =0;}
void inc_count ( )
{ count ++; }
int get_ count ()
{ return count ; }
}s
void main ( )

{ counter C1, C2;
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cout<<"1tCl1 =" <<c.'1-get _Count ( );
cout <<" 1t C2 =" <<c2-get Count () -t
Cl -inc__coﬁnt ()
‘ - C2:inc_count ( ) ;
| C-2-inc_co‘unt ();
cout<<" 1t C1 =" <<Cl-get _count ( );
cout <<" ]t C2 =" <<C2-get count ¢):
8. Define Array. What is the djfferénce betwceen one-dimensional and two-dimentional array ?
- s Sl 1+2=3
Array wﬁﬁ JIRE CETCT | 6ne-dimensional YR two-dimentional array-&= SXJ «iieky |
9.  What is Nested class ? What is the difference between Local object and Global object ?
- ' | 14+2=3
Nested class & ¢ Local object €= Global object <45 S sfiefy & 7
Or/ qt .

Write some advantages of inheritance.

Inheritance -3 Sz Rea R @gan

10.- Write the steps to search 44 by using binary search in th;: following array DATA : 4
MG DATA-CS binary search st 44T ST ST SIS TS, T
10 12 14 21 23 28 31 37 42 44 49 53
12 03 4 s 6 7. 8 9 10 11 12
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